{Surveying and Geology

introdiiction

‘gdtction

Q.1 Whichof the following isan obstacletochaining Q.8 Malch Lisk-t with List-Il and selecl the correct

but not lo ranging? answer using lhe codes given below lheilists-.
{a) River ‘ List
{b) Hillock A. Topogrophical surveys
{¢} Building B. Geodéatic survays
{d) Noneolthe above C. Engineering surveys
Q.2 Whichone of tho following is a conventional sign D. Eas??‘s“a‘ surveys '

for Nonthdirection in smeying'?

—

To obiain data for carrying oul any type of

projact such as roads, railways, water
@ [ (b) supply, atc.
2. Toshow boundarles of fields, buildings. elc.

3. Tojurnish data for size and shape of the Earth
5] {d) 4. Toshow nalural fealures of the country such
as rivers, hills, slreams, lakes, roads,

bridges, lowris'etc.

Q.3 Surveys which are carrled om to depicl ° Cod:s 8 ¢ D
mouniains, rivers, water bodies, vooded areas
and olher cultura! details, are known as @1 2 3 4
{2) cadasural surveys b}z 1 4 3
: {m dl}’ surveys {e) 1 3 4 2 ,
{c} topographical surveys b4 3 1 2
{d) guide map surveys Q.6 1he shrinkage lactor of an old map is found to
Q.4. The conventional sign shown in iagure be 15/16 and the represantative fraction of the
i represenis a : mapis 11600, The correcled scale for the map is
@) 11600 (b) 1/1500
. {c) 1h706.67 {d) Noneofihese
1
: E\\ 0.7 Whichone of he follawing closely represents the
shape of the earh? ‘
{a} Spheroid {b) Elipsoid
\ k {c) Oblatespheroid  (d) Prolate spheroid
Q.8 Which of the following scale is largest one?

@ tem=50m {b) 142000
{a) roadbridge (b} railway bridge 3 .
{c} camalbridge {d) aqueduc © RF:EM {d) 1cm=5km



Q.8 The principle of "working from whole lo pan’ is
used in surveying because
{a) ploiting becomes easy
{b) survey work can be compleled quickly
(c) accumulation of errors is prevented
{d) All ol the above

Q.10 Which ane of Lhe (ollowing surveys is employed
for collecling sulficient data in connection with
sewage disposal and waler supply works?

(a) Topographic survey

(b} Cadaslral survey

{c) Geodelic survey

(d} Cross-sectioning and profile levelling

Q.11 The represcntaliva fraction 1/2500 means Lhal the
scala of 1cmis equal to
(@) 025 m (©) 25m
(€} 25m (d) 25 km

Q.12 Geodelic surveying is diflerent from plana
surveying because of
(@) the curvature of earth
(b) the large dilference of elevalions between
various poinis
(c) coverage of very large area
(d) undulations of-very large area

Q.13 The error due to bad ranging is
{a) cumulalive; posilive
{b) cumulative; negative
{c) compensaling
{d} cumulative: pasitive or negative

Q.14 For a well-conditional triangle, no angle should

be less lhan
(a) 2 by Ir
{c) 45° (d) &r

Q.15 Aninvar lape is made of an alloy of
(@) copper and sicel -
{b) brass and nicke!
(¢) brass and slea!
{d) nickel and steel

(b) aligning the chain in a straight line belween
two extremilics

{C) taking ofisers lrom a chain line

{d) chaining over a range of mountains

Q.17 Systamatic errors are lhase errors
{(a) whose effecls ara cumultative and can be
determined
{b) which carnot be recognized
{c) whose character is not underslood
{d) whose efleclis recognized but characleris
no! undarstood

{3.18 The plan ol amapwas photo copied to a reduced
size such thal aline originally 100 mm measutes
90 mm. The original scale of the planwas 1: 1000,
The revised scale is
fa) 1:900
(€ 1:112%

® 1: 1M
@ 1:i221

Q.19 Which of the tollowing lape is least alfecled by
temperature changes and is highty precise?
(@) Linentape {b) Melallic t1ape
(c) Sleel 1ape (d) Invar tape

Q.20 i L is the measured length of a ling, Ihen the
compensating errors are proportional lo
&) 12 by 2

© L 0 Jr

Q.21 Knowledge of surveying is significant for
{a) Laying underground pipe lines
{b) Towm planning
{c) Laying of canals
(d) Al of these

Q.22 Sublense bar is an instrumenlt used lar
(@) Levelling
{b) Measurement of horizonial distance 1n plain
areas
(c) Measurement of horizontal distance in
undulaling areas
{d) Measuremeniolangles

Q.23 Hydrographic survey deals wilh the mapping ol.
{a) Large water bodies



Q.24 Tha main principle of surveying is lo work

(@} from part Lo the whole
(b) from whole to the pan
{c) from higher level to lhe lower level
{d) from lower leve! Lo the higher leve!

m- Introduction

1.{(a) 2.{d) 3.{c) 4.(a} 5 (d)
11, {c} 12. (a) 13. (a) 14.(b) 15. (d)
21. (d) 22, {c) 23.(a) 24.{(b) 25. {d)

inodictor
6. {c)
Correcled scale
15 1 1
= SFx BF = 5% 7600 - 1706.67
7. {c}

The actual shape of the earth is an oblale

spheroid. Itis anellipsoid of revolution, llattened

al the paoles and bulging at the equalor. The
length of the polar axis is aboul 12, 113.168 km

and lhal ol equalorial axis is about 12,

756.602 km. Thus polar axis is shorler than the

equalorial axis by aboul 43.434 km.

11. (c)
1/2500 means
1 cm = 2500 cm

solem=25m

Q.25 Geedelic survaying is undertaken

6 () 7. ()

(a) for produclion of accurale maps of wide areas
{b} for derermination of accurate pasitions onthe
earlh's surface of system of contol points
(c) makinguse ol mast accurate insiruments and
‘methods ol abservations
{d) Attolhe above
HERN

8.(a) 9. (¢} 10.(d)

16, (b) 17.{a) 18.{b) 19. (d) 20.(d)

()

9
100
Revised scale = original scale x reduction faclor

1

11

Reduction faclor = =09

= LXOQ =
1000

{c}
The sublense bar was dovaloped by Mr. Kern.
The length of the substancebaris 2m({6 1.). Itis
used lor the measurement of comparalively shon
horizontal distance in undulating areas. A
substance bar may be used as a substance base,
the length of the bar is made equal lo the dislance
helween wotargets.
Hence option (¢} is correct.



